Communications in Mathematics and Applications

Vol. 13, No. 5, pp. 1413–1426, 2022 ISSN 0975-8607 (online); 0976-5905 (print) Published by RGN Publications DOI: 10.26713/cma.v13i5.2253



Special Issue

Mathematics & Its Relevance to Science and Engineering *Editors*: N. Kishan and K. Phaneendra

Research Article

Some Results in Cone Metric Space, Using Semi-Compatible and Reciprocally Continuous Mappings

Chiranjeevi Perala* ^(D) and V. Srinivas ^(D)

Department of Mathematics, Osmania University, Hyderabad, India *Corresponding author: chiranjeeviperala@gmail.com

Received: June 7, 2022 Accepted: August 14, 2022

Abstract. In this paper, we establish a result in cone metric space by generalizing the theorem proved by Jain *et al.* (Compatibility and weak compatibility for four self maps in a cone metric space, *Bulletin of Mathematical Analysis and Applications* 2(1)(2010), 15 - 24) by employing certain weaker conditions such as semi-compatible, reciprocally continuous and sub sequentially continuous mappings. Further, our result is supported by discussing a relevant example.

Keywords. Common fixed point, Coincidence point, Cone metric space, Semi-compatible, Reciprocally continuous and sub sequentially continuous mappings

Mathematics Subject Classification (2020). 54H25, 47H10

Copyright © 2022 Chiranjeevi Perala and V. Srinivas. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

1. Introduction

S. Banach [3], a Polish mathematician and one of the pioneers of functional analysis, proposed a contraction principle that laid foundation for many fixed point theorem. Further, metric space has been generalized in a number of ways. In this process, Huang and Zhang [5] developed the concept of cone metric space, replacing the Banach space with an ordered Banach space over

the set of real numbers and proved several results. Following that, Abbas *et al.* [2], Abbas and Rhoades [1], Rezapour and Hamlbarani [9] investigated some in cone metric spaces. Thereafter, Song *et al.* [11] have derived similar fixed point theorems using weakly compatibility in cone metric spaces. Recently, Abbas and Jungck [2] generalized the finding within a normal cone metric space using weak compatibility. In a similar way, Vetro [13] used weak compatibility to prove some fixed point theorem for two self-maps meeting a contractive condition. Later, Jain *et al.* [7] proved certain fixed point theorems for four self-maps through compatibility and weak compatibility that met a contractive condition. Our major goal is to extend the results of [7] by using semi-compatibility, A-reciprocally continuity, and sub sequential continuity in cone metric spaces.

2. Preliminaries

Definition 2.1 ([5]). Let *E* be a real Banach space. $P \subset E$ is called a cone if and only if

- (i) *P* is closed, nonempty and $P \neq \{0\}$;
- (ii) $a, b \in \mathbb{R}, a, b \ge 0$ and $x, y \in P$ imply $ax + by \in P$;
- (iii) $P \cap (-P) = \{0\}.$

Given a cone $P \subset E$, we define a partial ordering \leq on E with respect to P by $x \leq y$ if and only if $y - x \in P$. We shall write x < y to indicate that $x \leq y$ but $x \neq y$, while $x \ll y$ will stand for $y - x \in int P$ (interior of P). A cone $P \subset E$ is called normal if there is a number K > 0 such that $\forall x, y \in E, 0 \leq x \leq y \Rightarrow ||x|| \leq K ||y||$. The normal constant of P is the least positive value that fulfills the aforementioned inequality. It is clear that $K \geq 1$.

Proposition 2.2 ([6]). Consider cone P is in a real Banach space. If $a \in P$ and $a \le ka$, for some $k \in [0, 1)$ then a = 0.

Proposition 2.3 ([6]). Consider cone P is in a real Banach space E. If for $a \in P$ and $a \ll c$, $\forall c \in P^0$ (interior point) then a = 0.

Definition 2.4 ([5]). Let *X* be a non-empty set and *E* a real Banach space with cone *P*. A vectorvalued function $d: X \times X \rightarrow P$ is said to be a cone metric space on *X* with the constant $K \ge 1$ if the following conditions are satisfied:

(*d*₁) d(x, y) > 0 and d(x, y) = 0 if and only if $x = y \forall x, y \in X$;

- $(d_2) (x, y) = d(y, x) \forall x, y \in X;$
- $(d_3) \ (x,y) \le K(d(x,z) + d(y,z)) \ \forall \ x,y,z \in X.$

Then d is called a cone metric in X and (X,d) is called a cone metric space.

The concept of a cone metric space is more general than that of a metric space.

Definition 2.5 ([5]). Let (X, d) be a cone metric space. We say that a sequence

- (i) $(x_{\eta})_{\eta \in N} \subseteq X$ is a cauchy sequence if for all $\epsilon > 0$ there exists an $N_{\epsilon} \in N$ such that for all $\eta, m > N, d(x_{\eta}, x_m) < \epsilon$, if $\lim_{\eta, m \to +\infty} d(x_{\eta}, x_m) = 0$.
- (ii) Convergent sequence if for every $c \in E$ with $0 \ll c$, there is an N such that for all $\eta > N$, $d(x_{\eta}, x) \ll c$ for some fixed $x \in X$.
- (iii) A cone metric space X is said to be complete if every cauchy sequence in X is convergent in X.

Definition 2.6. Cone metric space (X,d) is In a real Banach space E, let P be a cone. If $u \le v$, $v \ll w$ then $u \ll w$.

Lemma 2.7. Cone metric space (X,d) is a real Banach space E, let P be a cone and k_1, k_2, k_3 , $k_4, k > 0$. If $x_\eta \rightarrow x$, $y_\eta \rightarrow y$, $z_\eta \rightarrow z$ and $P_\eta \rightarrow p$ in X and $ka \le k_1d(x_\eta, x) + k_2d(y_\eta, y) + k_3d(z_\eta, z) + k_3d(P_\eta, p)$, then a = 0.

Definition 2.8. Two self-maps F and G of a set X are *occasionally weakly compatible* (OWC) if and only if there is a point x in X which is a coincidence point of F and G at which F and G commutes.

Example 2.9. Define cone metric space (X, d) a with partial ordering \leq and $E = \mathbb{R}^2$,

$$P = \{(y,z) \in E \mid y,z > 0\} \subset \mathbb{R}^2, \ X = [0,\infty), \ d: X \times X \to E,$$

in order for $d(y,z) = (|y-z|, \alpha |y-z|)$, where $\alpha \ge 0$ is some constant.

Define the self-mappings A, B and S, T. On $X = [0, \infty)$ as

 $A(x) = x^3 \quad \forall \ x \in [0,\infty)$

and

$$S(x) = 3x^2$$
, if $x \in [0, \infty)$.

We see that the pair has coincidence points (A,S) at 0,3. At x = 3

$$A(3) = 27 = S(3)$$

but

 $AS(3) = A(27) = 19683 \neq SA(3) = S(27) = 2187.$

At x = 0, A(0) = 0 = S(0) and

AS(0) = A(0) = 0 = SA(0) = S(0).

This indicates that pair (A, S) is OWC, but not weakly compatible.

Definition 2.10 ([7]). The self-mappings pair (A,S) on a cone metric space (X,d) is claimed to be semi-compatible, if $\lim_{\eta\to\infty} ASx_{\eta} = St$, whenever $\{x_{\eta}\}$ is a sequence in X such that $\lim_{\eta\to\infty} Ax_{\eta} = \lim_{\eta\to\infty} Sx_{\eta} = t$, for some $t \in X$.

Example 2.11 ([7]). In a cone metric space (X, d), define self-mappings A, B and S, T. On $X = [1, \infty)$ as

$$A(x) = \begin{cases} x, & \text{if } x \le 1, \\ 3x+1, & \text{if } x > 1, \end{cases} \text{ and } S(x) = \begin{cases} 2x-1, & \text{if } x \le 1, \\ 2x+2, & \text{if } x \in (1,4) \cup (4,\infty), \\ 13, & \text{if } x = 4. \end{cases}$$

Consider a sequence $x_{\eta} = 1 + \frac{1}{\eta}$ for $\eta > 1$. Then

$$Ax_{\eta} = A\left(1 + \frac{1}{\eta}\right) = 3\left(1 + \frac{1}{\eta}\right) + 1 \rightarrow 4$$

and

$$Sx_{\eta} = S\left(1+\frac{1}{\eta}\right) = 2\left(1+\frac{1}{\eta}\right) + 2 \rightarrow 4, \quad \text{as } \eta \rightarrow \infty.$$

Now

$$ASx_{\eta} = AS\left(1 + \frac{1}{\eta}\right) = A\left(4 + \frac{2}{\eta}\right) = 3\left(4 + \frac{2}{\eta}\right) + 1 \to 13 = S(4),$$

 $\quad \text{and} \quad$

$$SAx_{\eta} = SA\left(1+\frac{1}{\eta}\right) = S\left(4+\frac{3}{\eta}\right) = 2\left(4+\frac{3}{\eta}\right) + 2 = 10, \text{ as } \eta \to \infty.$$

Then $ASx_{\eta} \rightarrow 13$ and $SAx_{\eta} \rightarrow 10$, as $\eta \rightarrow \infty$.

Hence the pair self-mappings (A, S) is semi-compatible but not compatible.

Definition 2.12 ([4]). The self-mappings pair (A, S) on a cone metric space (X, d) is mentioned to be sub-sequentially continuous if a sequence $\{x_{\eta}\}$ exists in X as well as $\lim_{\eta \to \infty} Ax_{\eta} = \lim_{\eta \to \infty} Sx_{\eta} = t$, in some cases $t \in X$ as well as $\lim_{\eta \to \infty} ASx_{\eta} = At$ and $\lim_{\eta \to \infty} SAx_{\eta} = St$.

If the self-mappings A, S is continuous, hence reciprocally continuous mappings but not subsequentially continuous as discussed below.

Example 2.13. In a cone metric space (X,d), define self-mappings A,B and S,T. On $X = [1,\infty)$ as

$$A(x) = \begin{cases} x, & \text{if } x \le 1, \\ 3x - 1, & \text{if } x \in (1, 8) \cup (8, \infty), \\ 47, & \text{if } x = 8 \end{cases}$$

and

$$S(x) = \begin{cases} 2x - 1, & \text{if } x \le 1, \\ x^2 - 1, & \text{if } x > 1. \end{cases}$$

Consider a sequence $x_{\eta} = 3 - \frac{1}{\eta}$ for $\eta > 1$. Then

$$Ax_{\eta} = A\left(3 - \frac{1}{\eta}\right) = 3\left(3 - \frac{1}{\eta}\right) - 1 = 8 - \frac{3}{\eta} \rightarrow 8$$

and

$$Sx_{\eta} = S\left(3-\frac{1}{\eta}\right) = \left(3-\frac{1}{\eta}\right)^2 - 1 \rightarrow 8, \text{ as } \eta \rightarrow \infty.$$

Now

$$ASx_{\eta} = AS\left(3 - \frac{1}{\eta}\right) = A\left(\left(3 - \frac{1}{\eta}\right)^{2} - 1\right) = 3\left(\left(3 - \frac{1}{\eta}\right)^{2} - 1\right) - 1 = 23 \neq 47 = A(8)$$

and

$$SAx_{\eta} = SA\left(3 - \frac{1}{\eta}\right) = S\left(8 - \frac{3}{\eta}\right) = \left(8 - \frac{3}{\eta}\right)^2 - 1 = 63 = S(8), \text{ as } \eta \to \infty.$$

However, for a sequence $x_{\eta} = 1 - \frac{1}{\eta}$ for $\eta \ge 1$, then

$$Ax_{\eta} = 1 - \frac{1}{\eta} \to 1$$

and

$$Sx_{\eta} = 1 - \frac{1}{\eta} \to 1 \text{ as } \eta \to \infty.$$

Now

$$ASx_{\eta} = AS\left(1 - \frac{1}{\eta}\right) = 2\left(1 - \frac{1}{\eta}\right) - 1 = A(1) = 1 = A(1)$$

and

$$SAx_{\eta} = SA\left(1-\frac{1}{\eta}\right) = 2\left(1-\frac{1}{\eta}\right) - 1 = 1 = S(1).$$

Therefore, the mappings A, S are sub-sequentially continuous but not continuous.

Definition 2.14 ([8]). The self-mappings pair (A,S) on a cone metric space (X,d) is called reciprocally continuous if for each sequence $\{x_{\eta}\}$ in X, $\lim_{\eta \to \infty} ASx_{\eta} = At$ and $\lim_{\eta \to \infty} SAx_{\eta} = St$, whenever $\lim_{\eta \to \infty} Ax_{\eta} = \lim_{\eta \to \infty} Sx_{\eta} = t$ for some $t \in X$.

Further reciprocally continuous mappings can be divided into A-reciprocally continuous and S-reciprocally continuous mappings.

Definition 2.15. The self-mappings pair (A,S) on a cone metric space (X,d) is called A-reciprocally continuous if for each sequence $\{x_{\eta}\}$ in X, $\lim_{\eta \to \infty} ASx_{\eta} = At$, whenever $\lim_{\eta \to \infty} Ax_{\eta} = \lim_{\eta \to \infty} Sx_{\eta} = t$, for some $t \in X$.

Definition 2.16. The self-mappings pair (A,S) on a cone metric space (X,d) is called S-reciprocally continuous if for each sequence $\{x_{\eta}\}$ in X, $\lim_{\eta \to \infty} SAx_{\eta} = St$, whenever $\lim_{\eta \to \infty} Ax_{\eta} = \lim_{\eta \to \infty} Sx_{\eta} = t$, for some $t \in X$.

Reciprocally continuous implies A-reciprocally continuous and S-reciprocally continuous but not conversely. We present a counter example as following.

Example 2.17. In a cone metric space (X,d), define the self-mappings A,B and S,T, on $X = [1,\infty)$ as

$$Ax = Bx = \begin{cases} \frac{x}{3}, & \text{if } x \in (-\infty, 1), \\ 4x - 3, & \text{if } x \in [1, \infty), \end{cases} \text{ and } Sx = Tx = \begin{cases} x + 2, & \text{if } x \in (-\infty, 1), \\ 3x - 2, & \text{if } x \in [1, \infty). \end{cases}$$

Consider a sequence $\{x_{\eta}\} = \left\{1 + \frac{1}{\eta}\right\}, \eta \in N$ in X. Then $(1) \qquad (1) \qquad (1)$

$$\lim_{\eta \to \infty} A x_{\eta} = \lim_{\eta \to \infty} A \left(1 + \frac{1}{\eta} \right) = 4 \left(1 + \frac{1}{\eta} \right) - 3 = \left(1 + \frac{4}{\eta} \right) = 1,$$
$$\lim_{\eta \to \infty} S x_{\eta} = \lim_{\eta \to \infty} S \left(1 + \frac{1}{\eta} \right) = 3 \left(1 + \frac{1}{\eta} \right) - 2 = \left(1 + \frac{3}{\eta} \right) = 1, \quad \text{as } \eta \to \infty$$

Also,

$$\lim_{\eta \to \infty} ASx_{\eta} = \lim_{\eta \to \infty} AS\left(1 + \frac{1}{\eta}\right) = \lim_{\eta \to \infty} A\left(1 + \frac{3}{\eta}\right) = 4\left(1 + \frac{3}{\eta}\right) - 3 \to 1 = A(1),$$
$$\lim_{\eta \to \infty} SAx_{\eta} = \lim_{\eta \to \infty} SA\left(1 + \frac{1}{\eta}\right) = \lim_{\eta \to \infty} S\left(1 + \frac{4}{\eta}\right) = 3\left(1 + \frac{4}{\eta}\right) - 2 \to 1 = S(1), \quad \text{as } \eta \to \infty.$$

Consider another sequence $\{x_{\eta}\} = \left\{\frac{1}{\eta} - 3\right\}, \eta \in N$ in *X*. Then

$$\lim_{\eta \to \infty} Ax_{\eta} = \lim_{\eta \to \infty} \left(\frac{1}{3\eta} - 1\right) = -1 \text{ as } \eta \to \infty.$$
$$\lim_{\eta \to \infty} Sx_{\eta} = \lim_{\eta \to \infty} \left(\frac{1}{\eta} - 3\right) = \frac{1}{\eta} - 3 + 2 = \frac{1}{\eta} - 1 \to -1, \text{ as } \eta \to \infty.$$

Next,

$$\lim_{\eta \to \infty} AS x_{\eta} = \lim_{\eta \to \infty} AS \left(\frac{1}{\eta} - 3\right) = \lim_{\eta \to \infty} A \left(\left(\frac{1}{\eta} - 3\right) + 2\right) = \lim_{\eta \to \infty} A \left(\frac{1}{\eta} - 1\right) = \frac{1}{3} \left(\frac{1}{\eta} - 1\right) \to -\frac{1}{3}$$
$$= \frac{-1}{3} = A(-1),$$
$$\lim_{\eta \to \infty} SA x_{\eta} = \lim_{\eta \to \infty} SA \left(\frac{1}{\eta} - 3\right) = \lim_{\eta \to \infty} S \left(-1 + \frac{1}{3\eta}\right) = \left(-1 + \frac{1}{3\eta}\right) + 2 \to 1 = 1 = S(-1), \text{ as } \eta \to 0$$

œ.

Thus, the self-mappings pair (A, S) is A-reciprocally continuous but neither continuous nor reciprocally continuous.

Now we present a theorem by Jain et al. [7].

Theorem (a). Let (X,d) be a complete cone metric space with respect to a cone P contained in a real Banach space E. Let A, B and S, T be self-mappings on X satisfying:

- (i) $A(X) \subseteq T(X), B(X) \subseteq S(X);$
- (ii) the pair (A,S) is compatible and the pair (B,T) is weakly compatible;
- (iii) one of A or S is continuous;

(iv) $d(Ax, By) \leq \lambda d(Ax, Sx) + \mu d(By, Ty) + \delta d(Sx, Ty) + \gamma [d(Ax, Ty) + d(Sx, By)].$ for some $\lambda, \gamma, \delta, \mu \in [0 \ 1)$ with $\lambda + \mu + \delta + 2\gamma < 1, \forall x, y \in X$.

Then A,B,S and T will be having a single common fixed point in X.

The aforementioned result can be generalized in the following way.

3. Main Result

Theorem 3.1. Complete cone metric space (X,d) is with respect to a cone P contained in a real Banach space E. Let A, B and S, T be self-mappings on X satisfying:

- (i) $A(X) \subseteq T(X), B(X) \subseteq S(X);$
- (ii) the pair (A,S) is semi-compatible and A-reciprocally continuous and the pair (B,T) is weakly compatible;
- (iii) $d(Ax, By) \le \lambda d(Ax, Sx) + \mu d(By, Ty) + \delta d(Sx, Ty) + \gamma [d(Ax, Ty) + d(Sx, By)]$

for some $\lambda, \gamma, \delta, \mu \in [0, 1)$ with $\lambda + \mu + \delta + 2\gamma < 1$ with $\forall x, y \in X$. Then A,B and S,T having a single common fixed point in X.

Proof. Consider $x_0 \in X$ be any arbitrary point. Using (3.3) assemble sequences $\{x_\eta\}$, and $\{y_\eta\}$ in *X* in order for

$$Ax_{2\eta} = Tx_{2\eta+1} = y_{2\eta} \text{ and } Bx_{2\eta+1} = Sx_{2\eta+2} = y_{2\eta+1}, \quad \eta \ge 0.$$
(3.1)

We show that $\{y_{\eta}\}$ is a cauchy sequence.

Substitute $x = x_{2\eta}$, $y = x_{2\eta+1}$ in (3.3) we get

$$d(Ax_{2\eta}, Bx_{2\eta+1}) = \lambda d(Ax_{2\eta}, Sx_{2\eta}) + \mu d(Bx_{2\eta+1}, Tx_{2\eta+1}) + \delta d(Sx_{2\eta}, Tx_{2\eta+1}) + \gamma [d(Ax_{2\eta}, Tx_{2\eta+1}) + d(Sx_{2\eta}, Bx_{2\eta+1})].$$

Using (3.1), we get

$$\begin{aligned} d(y_{2\eta}, y_{2\eta+1}) &= \lambda d(y_{2\eta}, y_{2\eta-1}) + \mu d(y_{2\eta+1}, y_{2\eta}) + \delta d(y_{2\eta-1}, y_{2\eta}) + \gamma [d(y_{2\eta}, y_{2\eta}) + d(y_{2\eta-1}, y_{2\eta+1})] \\ &= \lambda d(y_{2\eta}, y_{2\eta-1}) + \mu d(y_{2\eta+1}, y_{2\eta}) + \delta d(y_{2\eta-1}, y_{2\eta}) + \gamma [d(y_{2\eta-1}, y_{2\eta}) + d(y_{2\eta}, y_{2\eta+1})]. \end{aligned}$$

Writing $d(y_{\eta}, y_{\eta+1}) = d_{\eta}$, we have

$$d_{2\eta} < \lambda d_{2\eta-1} + \mu d_{2\eta} + \delta d_{2\eta-1} + \gamma [d_{2\eta} + d_{2\eta-1}]$$

That is $(1 - \gamma - \mu) d_{2\eta} = (\lambda + \gamma + \delta) d_{2\eta-1}$ which implies

$$d_{2\eta} = h d_{2\eta-1},$$
(3.2)
where $h = \frac{(\lambda+\gamma+\delta)}{(1-\gamma-\mu)}.$
In view of (3.3), $h < 1.$
Now substitute $x = x_{2\eta+2}, y = x_{2\eta+1}$ in (3.3) we get

$$d(Ax_{2\eta+2}, Bx_{2\eta+1}) = \lambda d(Ax_{2\eta+2}, Sx_{2\eta+2}) + \mu d(Bx_{2\eta+1}, Tx_{2\eta+1}) + \delta d(Sx_{2\eta+2}, Tx_{2\eta+1}) + \gamma [d(Ax_{2\eta+2}, Tx_{2\eta+1}) + d(Sx_{2\eta+2}, Bx_{2\eta+1})].$$

Using (3.1), we get

$$d(y_{2\eta+2}, y_{2\eta+1}) = \lambda d(y_{2\eta+2}, y_{2\eta+1}) + \mu d(y_{2\eta+1}, y_{2\eta}) + \delta d(y_{2\eta+1}, y_{2\eta})$$

$$+ \gamma [d(y_{2\eta+2}, y_{2\eta}) + d(y_{2\eta+1}, y_{2\eta+1})] \\= \lambda d(y_{2\eta+2}, y_{2\eta+1}) + \mu d(y_{2\eta+1}, y_{2\eta}) + \delta d(y_{2\eta+1}, y_{2\eta}) \\+ \gamma [d(y_{2\eta+2}, y_{2\eta+1}) + d(y_{2\eta+1}, y_{2\eta})].$$

So, we have

$$d_{2\eta+1} < \lambda d_{2\eta+1} + \mu d_{2\eta} + \delta d_{2\eta} + \gamma [d_{2\eta+1} + d_{2\eta}].$$

That is $(1 - \gamma - \mu) d_{2\eta+1} = (\lambda + \gamma + \delta) d_{2\eta}$ which implies

$$d_{2\eta+1} = k d_{2\eta},$$
(3.3)
where $k = \frac{(\lambda + \gamma + \delta)}{(1 - \gamma - \mu)}.$
By condition (3.3), $k < 1.$
In view of (3.2) and (3.3) we have,

$$d_{2\eta+1} = k d_{2\eta} = k h d_{2\eta-1} = k^2 h d_{2\eta-2} = \dots = k^{\eta+1} h^{\eta} d_0$$
, where $d_0 = d(y_0, y_1)$

 $\quad \text{and} \quad$

$$d_{2\eta} = h d_{2\eta-1} = h k d_{2\eta-2} = h^2 k d_{2\eta-3} = \dots = h^{\eta} k^{\eta} d_0$$
, where $d_0 = d(y_0, y_1)$.

Therefore,

$$d_{2\eta+1} = k^{\eta+1} h^{\eta} d_0$$
 and $d_{2\eta} = h^{\eta} k^{\eta} d_0$.

Also,

$$d(y_{\eta+l}, y_{\eta}) = d(y_{\eta+l}, y_{\eta+l-1}) + d(y_{\eta+l-1}, y_{\eta+l-2}) + \dots + d(y_{\eta+1}, y_{\eta}).$$

That is,

$$d(y_{\eta+l}, y_{\eta}) = d_{\eta+l-1} + d_{\eta+l-2} + \dots + d_{\eta}.$$
(3.4)

If $\eta + l - 1$ is even then by (3.4) we have

$$\begin{split} d(y_{\eta+l},y_{\eta}) &= (h^{(\eta+l-1)/2}k^{(\eta+l-1)/2} + h^{(\eta+l-1)/2}k^{(\eta+l)/2} + \dots +)d_{0} \\ &= h^{(\eta+l-1)/2}k^{(\eta+l-1)/2}[1+k+hk+hk^{2}+h^{2}k^{2}+\dots]d_{0} \\ &= h^{(\eta+l-1)/2}k^{(\eta+l-1)/2}[(1+hk+h^{2}k^{2}+\dots) + (k+hk^{2}+h^{2}k^{3}+\dots)]d_{0} \\ &= h^{(\eta+l-1)/2}k^{(\eta+l-1)/2}[(1+hk+h^{2}k^{2}+\dots) + k(1+hk+h^{2}k^{2}+\dots)]d_{0} \\ &= h^{(\eta+l-1)/2}k^{(\eta+l-1)/2}(1+k)(1+hk+h^{2}k^{2}+\dots)d_{0} \\ &= h^{(\eta+l-1)/2}k^{(\eta+l-1)/2}(1+k)(1-hk)d_{0}. \end{split}$$

As hk < 1, P is closed, then

$$d(y_{\eta+l}, y_{\eta}) = h^{(\eta+l-1)/2} k^{(\eta+l-1)/2} (1+k)(1-hk) d_0.$$
(3.5)

Now for $c \in P^0$, there exists r > 0 such that $c - y \in P^0$ if ||y|| < r. Choose a positive integer N_c then $\forall n = N_c$, then

Choose a positive integer
$$N_c$$
 then $\forall \eta = N_c$, then

$$\|h^{(\eta+l-1)/2}k^{(\eta+l-1)/2}(1+k)(1-hk)d_0\| < r$$

which implies $c - h^{(\eta+l-1)/2} k^{(\eta+l-1)/2} (1+k)(1-hk) d_0 \in P^0$ and

$$h^{(\eta+l-1)/2}k^{(\eta+l-1)/2}(1+k)(1-hk)d_0 - d(y_{\eta+l},y_\eta) \in P$$
 on using (3.5)

So, we have $c - d(y_{\eta+l}, y_{\eta}) \in P^0$, $\forall \eta = N_c$ and $\forall p$ by Proposition 2.6. The same thing is true if $\eta + l - 1$ is odd.

The same thing is true if $\eta + i = 1$ is out.

This implies $d(y_{\eta+l}, y_{\eta}) \ll c, \forall \eta > N_c, \forall p$.

Hence $\{y_{\eta}\}$ is a cauchy sequence in *X*, which is complete.

As $\{y_{\eta}\} \rightarrow u \in X$ implies as

 $\{Ax_{2\eta}\} \to u \text{ and } \{Bx_{2\eta+1}\} \to u, \tag{3.6}$

$$\{Sx_{2\eta}\} \to u \text{ and } \{Tx_{2\eta+1}\} \to u, \tag{3.7}$$

$$\lim_{\eta \to \infty} A x_{2\eta} = \lim_{\eta \to \infty} S x_{2\eta} = u.$$
(3.8)

Because the self-mappings pair (A, S) is semi-compatible

$$\lim_{\eta \to \infty} ASx_{2\eta} = Su \text{ and } \lim_{\eta \to \infty} Ax_{2\eta} = \lim_{\eta \to \infty} Sx_{2\eta} = u \text{ for some } u \in X.$$
(3.9)

Also the self-mappings pair (A, S) is A-reciprocally continuous

$$\lim_{\eta \to \infty} ASx_{2\eta} = Au \,. \tag{3.10}$$

From (3.9) and (3.10) we get

$$Au = Su. aga{3.11}$$

Now

$$\begin{aligned} d(Su,u) &\leq d(Su, Ax_{2\eta}) + d(Ax_{2\eta}, Bx_{2\eta+1}) + d(Bx_{2\eta+1}, u) \\ &= d(Su, ASx_{2\eta}) + d(y_{2\eta+1}, u) + d(ASx_{2\eta}, Bx_{2\eta+1}). \end{aligned}$$

Using (3.3) with $x = x_{2\eta}$ and $y = x_{2\eta+1}$ we have

$$\begin{aligned} d(Su,u) &\leq d(Su,ASx_{2\eta}) + d(y_{2\eta+1},u) + \lambda d(ASx_{2\eta},Sx_{2\eta}) + \mu d(Bx_{2\eta+1},Tx_{2\eta+1}) \\ &+ \delta d(Sx_{2\eta},Tx_{2\eta+1}) + \gamma [d(ASx_{2\eta},Tx_{2\eta+1}) + d(Sx_{2\eta},Bx_{2\eta+1})] \\ &\leq d(Su,ASx_{2\eta}) + d(y_{2\eta+1},u) + \lambda d(ASx_{2\eta},u) + \mu d(y_{2\eta+1},y_{2\eta}) \\ &+ \delta d(u,y_{2\eta}) + \gamma [d(ASx_{2\eta},y_{2\eta}) + d(u,y_{2\eta+1})] \\ &\leq d(Su,ASx_{2\eta}) + d(y_{2\eta+1},u) + \lambda [d(ASx_{2\eta},Su) + d(Su,u)] \\ &+ \mu [d(y_{2\eta+1},u) + d(u,y_{2\eta})] + \delta [d(u,Su) + d(Su,u) + d(y_{2\eta},u)] \\ &+ \gamma [d(ASx_{2\eta},Su) + d(Su,u) + d(u,y_{2\eta}) + d(u,y_{2\eta+1})] \end{aligned}$$

this implies

 $(1-\lambda-2\delta-\gamma)d(Su,u) \leq (1+\lambda+\gamma)d(ASx_{2\eta},Su) + (1+\mu+\gamma)d(y_{2\eta+1},u) + (\mu+\delta+\gamma)d(u,y_{2\eta})$ as $ASx_{2\eta} \rightarrow Su$, $\{y_{2\eta}\} \rightarrow u$ and $\{y_{2\eta+1}\} \rightarrow u$. Then by Lemma 2.7 we have

$$d(Su, u) = 0 \text{ and hence } Su = u. \tag{3.12}$$

Now

$$\begin{split} d(Au,Su) &\leq d(Au,Bx_{2\eta+1}) + d(Bx_{2\eta+1},Su) \\ &= d(y_{2\eta+1},Su) + d(Au,Bx_{2\eta+1}). \\ \text{Using (3.3) with } x = u \text{ and } y = x_{2\eta+1}, \text{ we have} \\ d(Au,Su) &\leq d(y_{2\eta+1},Su) + \lambda d(Au,Su) + \mu d(Bx_{2\eta+1},Tx_{2\eta+1}) + \delta d(Su,Tx_{2\eta+1}) \\ &+ \gamma [d(Au,Tx_{2\eta+1}) + d(Bx_{2\eta+1},Su)] \\ &\leq d(y_{2\eta+1},Su) + \lambda d(Au,Su) + \mu d(y_{2\eta+1},y_{2\eta}) + \delta d(Su,y_{2\eta}) \\ &+ \gamma [d(Au,y_{2\eta}) + d(y_{2\eta+1},Su)] \\ &\leq d(y_{2\eta+1},Su) + \lambda d(Au,Su) + \mu [d(y_{2\eta+1},Su) + d(Su,y_{2\eta})] + \delta d(Su,y_{2\eta}) \\ &+ \gamma [d(Au,Su) + d(Su,y_{2\eta}) + d(y_{2\eta+1},Su)]. \end{split}$$

 \mathbf{So}

$$(1-\lambda-\gamma)d(Au,Su) \le (\mu+\delta+\gamma)d(y_{2\eta},Su) + (1+\mu+\gamma)d(y_{2\eta+1},Su).$$

Using (3.12) Su = u, we have

 $(1-\lambda-\gamma)d(Au,u) \leq (\mu+\delta+\gamma)d(u,u) + (1+\mu+\gamma)d(u,u).$

As $\{y_{2\eta}\} \rightarrow u$ and $\{y_{2\eta+1}\} \rightarrow u$. By Lemma 2.7 we get

$$d(Au, u) = 0$$

and we get

$$Au = u \tag{3.13}$$

From (3.11) and (3.12), we get

Au = Su = u.

Thus *u* is a coincidence point of intersection (A, S). As $A(X) \subseteq T(X)$, $\exists v \in X$ with u = Au = Tv, then

$$u = Au = Su = Tv. \tag{3.14}$$

Substitute x = u and y = v in (3.3) we have

$$d(Au, Bv) \leq \lambda d(Au, Su) + \mu d(Bv, Tv) + \delta d(Su, Tv) + \gamma [d(Au, Tv) + d(Su, Bv)].$$

Using (3.10) we have

 $d(u, Bv) \le (\mu + \gamma)d(u, Bv)$

As $\mu + \gamma < 1$, by Proposition 2.2, it gives and hence d(Bv, u) = 0 and we get

$$Bv = u$$

thus Bv = Tv = u as the self-mappings (B, T) is weakly compatible we get

Bu = Tu.

Substitute x = u, y = u in (3.4) and using Au = Su, Bu = Tu we get

 $d(Au, Bu) \leq (\delta + 2\gamma)d(Au, Bu).$

Hence Au = Bu, by Proposition 2.2 as $\delta + 2\gamma < 1$ and we have

u = Au = Su = Bu = Tu.

In this case, Thus u is common fixed point between the four self-maps A, B and S, T.

Uniqueness:

w is another common fixed point.

Let w = Aw = Bw = Sw = Tw.

Taking x = u and y = w in (3.3) we get

$$d(Au, Bw) = \lambda d(Au, Su) + \mu d(Bw, Tw) + \delta d(Su, Tw) + \gamma [d(Au, Tw) + d(Su, Bw)].$$

Hence $d(u, w) = (\delta + 2\gamma)d(u, w)$ by Proposition 2.2, as $\delta + 2\gamma < 1$,

 $d(u,w)=0, \ u=w.$

Thus u is such required common fixed point for four self-maps A, B and S, T.

Our theorem validated by discussing a relevant example.

Example 3.2. In cone metric space (X,d), the self-mappings A,B and S,T. On $X = [0,\infty)$ define

$$Ax = Bx = \begin{cases} x^2, & \text{if } x \in [0,2], \\ 0, & \text{if } x \in (2,4] \end{cases} \text{ and } Sx = Tx = \begin{cases} (\sqrt{2})x, & \text{if } x \in [0,2), \\ 4, & \text{if } x \in [2,4), \\ 0, & \text{if } x = 4. \end{cases}$$

Consider a sequence $x_{\eta} = \frac{\sqrt{2}}{\eta}$, $\eta \in N$ in *X*. Then x = 0, $\sqrt{2}$ are coincidence points of *B*, *T*. At x = 0,

$$B(0) = T(0) = 0$$
 and $BT(0) = TB(0)$

At $x = \sqrt{2}$,

$$\begin{split} B(\sqrt{2}) &= 2 = T(\sqrt{2}), \\ BT(\sqrt{2}) &= B(2) = 4, \ TB(\sqrt{2}) = T(2) = 4, \\ B(\sqrt{2}) &= T(\sqrt{2}) \Rightarrow BT(\sqrt{2}) = \ TB(\sqrt{2}). \end{split}$$

That implies the pair (B, T) is weakly compatibility. Now

$$\lim_{\eta \to \infty} A x_{\eta} = \lim_{\eta \to \infty} A\left(\frac{\sqrt{2}}{\eta}\right) = \lim_{\eta \to \infty} \left(\frac{\sqrt{2}}{\eta}\right)^2 = 0,$$
$$\lim_{\eta \to \infty} S x_{\eta} = \lim_{\eta \to \infty} S\left(\frac{\sqrt{2}}{\eta}\right) = (\sqrt{2})\left(\frac{\sqrt{2}}{\eta}\right) = 0, \quad \text{as } \eta \to \infty$$

and

$$\lim_{\eta \to \infty} AS x_{\eta} = \lim_{\eta \to \infty} AS\left(\frac{\sqrt{2}}{\eta}\right) = \lim_{\eta \to \infty} A\left(\frac{2}{\eta}\right) = \lim_{\eta \to \infty} \left(\frac{2}{\eta}\right)^2 = 0 = S(0),$$
$$\lim_{\eta \to \infty} AS x_{\eta} = \lim_{\eta \to \infty} AS\left(\frac{\sqrt{2}}{\eta}\right) = \lim_{\eta \to \infty} A\left(\frac{2}{\eta}\right) = \lim_{\eta \to \infty} \left(\frac{2}{\eta}\right)^2 = 0 = A(0).$$

Consider another sequence $\{x_{\eta}\} = \{\sqrt{2} - \frac{1}{\eta}\}, \eta \in N \text{ in } X$. Then $x = 0, \sqrt{2}$ are coincidence points of A, S.

At x = 0,

$$\lim_{\eta \to \infty} A x_{\eta} = \lim_{\eta \to \infty} A \left(\sqrt{2} - \frac{1}{\eta} \right) = \left(\sqrt{2} \right)^2 = 2 \text{ as } \eta \to \infty,$$
$$\lim_{\eta \to \infty} S x_{\eta} = \lim_{\eta \to \infty} S \left(\sqrt{2} - \frac{1}{\eta} \right) = (\sqrt{2}) \left(\sqrt{2} - \frac{1}{\eta} \right) = 2 \text{ as } \eta \to \infty$$

and

$$\lim_{\eta \to \infty} AS x_{\eta} = \lim_{\eta \to \infty} AS \left(\sqrt{2} - \frac{1}{\eta} \right) = \lim_{\eta \to \infty} A(2) = (2)^2 = 4 = S(2),$$
$$\lim_{\eta \to \infty} AS x_{\eta} = \lim_{\eta \to \infty} AS \left(\sqrt{2} - \frac{1}{\eta} \right) = \lim_{\eta \to \infty} A(2) = (2)^2 = 4 = A(2),$$
$$\lim_{\eta \to \infty} SA x_{\eta} = \lim_{\eta \to \infty} SA \left(\sqrt{2} - \frac{1}{\eta} \right) = \lim_{\eta \to \infty} S(2) = 4 \neq S(0).$$

Thus, the self-mappings (A,S) is semi-compatible as well as A-reciprocally continuous. Further the pair (B,T) is weakly compatible. Moreover, at x = 0, A(0) = S(0) = B(0) = T(0) = 0. But the pair of mappings (A,S) is neither compatible nor reciprocally continuous. Now we proved contractive condition different cases as the following.

Case I: If $x \in [0,2)$

$$\begin{split} &d(Ax, By) \leq \lambda d(Ax, Sx) + \mu d(By, Ty) + \delta d(Sx, Ty) + \gamma [d(Ax, Ty) + d(Sx, By)], \\ &d(Ax, Bx) \leq \lambda d(Ax, Sx) + \mu d(Bx, Tx) + \delta d(Sx, Tx) + \gamma [d(Ax, Tx) + d(Sx, Bx)], \\ &d(x^2, x^2) \leq \lambda d(x^2, \sqrt{2}x) + \mu d(x^2, \sqrt{2}x) + \delta d(\sqrt{2}x, \sqrt{2}x) + \gamma [d(x^2, \sqrt{2}x) + d(\sqrt{2}x, x^2)], \\ &0 \leq \lambda d(x^2, \sqrt{2}x) + \mu d(x^2, \sqrt{2}x) + \delta (0) + \gamma [d(x^2, \sqrt{2}x) + d(\sqrt{2}x, x^2)], \\ &0 \leq (\lambda + \mu + 2\gamma) d(x^2, \sqrt{2}x). \end{split}$$

 $0 \le (\lambda + \mu + 2\gamma)$ so that contractive condition is satisfied.

Case II: If x = 2

$$\begin{split} &d(Ax,By) \leq \lambda d(Ax,Sx) + \mu d(By,Ty) + \delta d(Sx,Ty) + \gamma [d(Ax,Ty) + d(Sx,By)], \\ &d(Ax,Bx) \leq \lambda d(Ax,Sx) + \mu d(Bx,Tx) + \delta d(Sx,Tx) + \gamma [d(Ax,Tx) + d(Sx,Bx)], \\ &0 \leq 0. \end{split}$$

So that inequalities satisfied.

Case III: If $x \in (2, 4)$

$$\begin{split} &d(Ax, By) \leq \lambda d(Ax, Sx) + \mu d(By, Ty) + \delta d(Sx, Ty) + \gamma [d(Ax, Ty) + d(Sx, By)], \\ &d(Ax, Bx) \leq \lambda d(Ax, Sx) + \mu d(Bx, Tx) + \delta d(Sx, Tx) + \gamma [d(Ax, Tx) + d(Sx, Bx)], \\ &d(0, 0) \leq \lambda d(0, 4) + \mu d(0, 4) + \delta d(4, 4) + \gamma [d(0, 4) + d(4, 0)], \\ &0 \leq 4\lambda + 4\mu + 0\delta + 8\gamma, \\ &0 \leq 4(\lambda + \mu + 2\gamma), \\ &0 \leq (\lambda + \mu + 2\gamma). \end{split}$$

Case IV: If x = 4

 $\begin{aligned} &d(Ax, By) \leq \lambda d(Ax, Sx) + \mu d(By, Ty) + \delta d(Sx, Ty) + \gamma [d(Ax, Ty) + d(Sx, By)], \\ &d(Ax, Bx) \leq \lambda d(Ax, Sx) + \mu d(Bx, Tx) + \delta d(Sx, Tx) + \gamma [d(Ax, Tx) + d(Sx, Bx)], \\ &0 \leq 0. \end{aligned}$

If we take $\lambda = \frac{1}{4}$, $\mu = \frac{1}{8}$, $\gamma = \frac{1}{16}$ and $\delta = \frac{1}{3}$.

The contractive condition (3.3) of above said Theorem 3.1 holds true and 0 is the only common fixed point for the four maps A, B and S, T.

Competing Interests

The authors declare that they have no competing interests.

Authors' Contributions

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

References

- M. Abbas and B. E. Rhoades, Fixed and periodic point results in cone metric spaces, Applied Mathematics Letters 22(4) (2009), 511 – 515, DOI: 10.1016/j.aml.2008.07.001.
- [2] M. Abbas and G. Jungck, Common fixed point results for noncommuting mappings without continuity in cone metric spaces, *Journal of Mathematical Analysis and Applications* 341(1) (2008), 416 – 420, DOI: 10.1016/j.jmaa.2007.09.070.
- [3] S. Banach, Sur les opérations dans les ensembles abstraits et leur application aux équations intégrales, *Fundamenta Mathematicae* **3**(1) (1922), 133 181, URL: https://eudml.org/doc/213289.
- [4] O. P. Chauhan, N. Singh, D. Singh and L. N. Mishra, Common fixed point theorems in cone metric spaces under general contractive conditions, *Scientific Publications of the State University of Novi Pazar - Series A* 9(2) (2017), 133 – 149, URL: https://web.archive.org/web/20180722210103id_/http: //scindeks-clanci.ceon.rs/data/pdf/2217-5539/2017/2217-55391702133C.pdf.
- [5] L.-G. Huang and X. Zhang, Cone metric spaces and fixed point theorems of contractive mappings, *Journal of Mathematical Analysis and Applications* 332(2) (2007), 1468 – 1476, DOI: 10.1016/j.jmaa.2005.03.087.

- [6] D. Ilić and V. Rakočević, Quasi-contraction on a cone metric space, Applied Mathematics Letters 22(5) (2009), 1674 – 1679, DOI: 10.1016/j.aml.2008.08.011.
- [7] S. Jain, S. Jain and L. Bahadur, Compatibility and weak compatibility for four self maps in a cone metric space, *Bulletin of Mathematical Analysis and Applications* 2(1) (2010), 15 – 24, URL: http://www.kurims.kyoto-u.ac.jp/EMIS/journals/BMAA/repository/docs/BMAA2-1-3.pdf.
- [8] P. Malviya, V. Gupta and V. H. Badshah, Common fixed point theorem for semi compatible pairs of reciprocal continuous maps in Menger spaces, *Annals of Pure and Applied Mathematics* 11(2) (2016), 139 – 144, URL: http://researchmathsci.org/apamart/APAM-V11n2-19.pdf.
- [9] Sh. Rezapour and R. Hamlbarani, Some notes on the paper "Cone metric spaces and fixed point theorems of contractive mappings", *Journal of Mathematical Analysis and Applications* 345(2) (2008), 719 – 724, DOI: 10.1016/j.jmaa.2008.04.049.
- [10] K. Satyanna and V. Srinvas, Fixed point theorem using semi compatible and sub sequentially continuous mappings in Menger space, *Journal of Mathematical and Computational Science* 10(6) (2020), 2503 – 2515, DOI: 10.28919/jmcs/4953.
- [11] G. Song, X. Sun, Y. Zhao and G. Wang, New common fixed point theorems for maps on cone metric spaces, *Applied Mathematics Letters* **23**(9) (2010), 1033 1037, DOI: 10.1016/j.aml.2010.04.032.
- [12] V. Srinivas and B. V. Reddy, A common fixed point theorem on fuzzy metric space using weakly compatible and semi-compatible mappings, *International Journal of Mathematics and Statistics Invention* 4(9) (2016), 27 31, URL: https://ijmsi.org/Papers/Volume.4.Issue.9/E0409027031.pdf.
- [13] P. Vetro, Common fixed points in cone metric spaces, *Rendiconti del Circolo Matematico di Palermo* 56 (2007), 464 – 468, DOI: 10.1007/BF03032097.

